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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2016 	09294 

ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks :  50  
Note : Question no. 1 is compulsory and attempt any three 

questions from the remaining questions. 

1. Mr. Ramesh is employed in AB Ltd. in Delhi. From 
the following particulars, compute his taxable 
income for the assessment year 2015-16. 

(a) Basic salary Z 32,000 per month. 

(b) Advance salary received for 2 months. 

(c) Bonus Z 40,000. 

(d) Transport allowance Z 800 per month. 

(e) He has been provided throughout the year 
a rent free furnished accommodation. Rent 
paid by employer being Z 80,000 p.a. and 
the cost of furniture Z 1,00,000. 

Free lunch provided in the office costing 
Z 40 per meal for 300 days during the year. 

Dividend Received from foreign company 
Z 60,000. 

(h) Contribution to Recognised P.F. by 
employer and employee 10% of Basic Salary. 

14 

(f) 

(g)  
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2. 	(a) Discuss provisions of Income Tax Act 	8 
regarding Agricultural Income. 

(b) Explain the cases where income of the 	4 
previous year is assessed in the same year. 

	

3. 	(a) Mr. Ranjit is the owner of a house property 	8 
in Gurgaon. It has been let out at ? 10,000 
per month. The house remained vacant for 
2 months during previous year 2014-15. The 
municipal value of the house is Z 80,000 and 
tax paid by the owner to municipality is 10% 
of the municipal value. Calculate taxable 
income from house property for the 
assessment year 2015-16. 

(b) Discuss the residential status of companies. 	4 

	

4. 	(a) What is the meaning of PAN ? Give six cases 	6 
where PAN is compulsory. 

(b) What do you mean by exempted income ? 	6 
Give six example of exempted incomes. 

	

5. 	Write short notes on any three of the following : 

(a) Carry forward of business losses 	4, 4, 4 

(b) Assessee 

(c) Revised Return of Income 

(d) Deduction under section 80 D 

(e) Gross Total Income 

	

6. 	(a) Distinguish between long term and short 	6 
term capital gains. 

(b) What is income from other sources ? Give 	6 
six examples of income taxable under this 
head. 
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7. 	(a) Mr. Anthony came to India for the first time 	6 
in 2005-06 and came regularly since then 
and staying 100 days every year. Determine 
his residential status for the previous year 
2014-15. 

(b) Discuss the concept of 'Income' as per the 	6 
Income Tax Act 1961. 
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1. 	 . 	Rmil 	t fffizt -ftwuil -k 14 

3TTNR ITT 'W( ffftli7T '44 2015-16'i  11 	3k1 

4)4 ,4 3417 	Trvir I 

(a) 17 	 32,000 leff TETI 

(b) alfrAT an., 2 1a 	"MT cnqi I 

(c) 40,000 I 

(d) zirAT %TM 800 31% 1117' I 

(e) 314 Wi "crW 	ai 771 	 13N NT 

1711  t I i-iti)orcif 111.  yrd17 rermi TITIT ITT 

80,000 miciati'ffeITTF917{ 	evict 1,00,000 I 

(f) 300 fkr   cniqicii 	 40 

-TR tram I 

(g) ?Ate rnwti1 31T71c~T3.TOT 60,000 I 

(h)iq 	'fftIT 	TTT 	 lifdrEf fetT 

	 10% 3177i I 
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2. 	(a) cpill 374lilzfi-417 317W 3ifirftzfrf * 3ITIITT9)t 	8 
.0.  .411(sq1 VIA I 

(b) Zff ftelfdA W quil Vf-A FA-14). , 11014 V-  377 	4 

TR 31* * 1 f*T othql \molt I 

	

3. 	(a) t t-1\7111 pia 14 "cTW 4-mii * TEfrit t-  I p4 	8 

Z 10,000 301:17 f*714 ITT Reii TM t I 4[1(14 

2014-15 4 4.14)11 t min Tfirdl IT I iichli T 

"1 4 1V-11 Clchf 4-1,Ctiletvl Z 80,000 t 7P-11 111177 ittqf 

TRff -iiiklirocbl WFW(14itt-iirciebi 4-r-e-1'TT10%t I 

W{ ffftTiTTIT * 2015-16 * I'm 4-icnii Trgcrfl "4 

3171 41u1i1 Vf-A I 

(b) ch II "I 41 . --1.  f94Fr fmra. 	auk -WA I 	4 

	

4. 	(a) ti (PAN) *I TtIT M-ffzi t ? 37 6 -ftetrWil -wT 	6 

340.  V-r-  fq-i.44 -tl-i 3f-9-a-rzi t1 

(b) * -7 lpff 3117A WIT 7-0:11 t? ft-' 6 'W{ 77 	6 

3-174iii 3qWultf-A I 

	

5. 	F-N-ircifigo 4.4 fwt -al-i-crT Tffkmr fdui 	rulqi fr73r4 : 

(a) 041ILIR A-  11'-i V 374 	A111 	 4, 4, 4 

(b) chtgicil 

(c) aTizt V' Tftfird fq-4Tuft 

(d) tIRT 80 D * 3T- Tfff "tt 

(e) tichM 1 ci 3 4 

	

6. 	(a) qlticrori 1 'MIT317- r*T-47 1*TM 714T "4 (1)-1 	6 

WT4 1 

(b) 4 31-44 WI' 3Trze WIT t. ? Tg71"11k* 31---Tfu 
w{ 414 ,1 6 374it dcitui 41r-44 I 
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7. 	(a) ql• 1.-a-i1 ITR-d 4 TO' 77 2005-06 4 374 721T 	6 

3k-14)W100f<9. * .r77 1.TR-ffaTT11 

1T-T-44 2014-15 t rm 3"14 fa7R:r ?Mt W 

fffttcur -Afq7 I 

(b) 3117"*7 aititizirf 1961 * ar- Tfds 4  aim' t 	6 

aTqqRvIT --1' co-ntse-41 W74 I 
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